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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
HEHE R
= 1 214, 809, 185
JE T
= 1 132, 320, 015
I L
= 1 44, 809, 500
I +H
m3 15, 000 214.1 3,211, 500
b TE b Cash ERIRY L&)
= 1 39, 840, 000
L
= 1 1, 758, 000
2N
= 1 68, 228, 040
PR (LR B
m3 20, 000 213.5 4, 270, 000
b S TE b Cash ERIRY L&)
= 1 59, 016, 320
FEIA O=27) +H
= 1 4,941, 720
BEREE T
= 1 5, 590, 920
AR 1
m3 1, 600 322.3 515, 680
b TE b Cash ERIRY L&)
= 1 4, 674, 560
FEIA O=27) +H
= 1 400, 680
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R T
= 1 13, 691, 555
EE R (B) 1350) VIE R K OV R+
m2 15, 940 842 13, 421, 480
RS AC R =)
m2 650 415.5 270, 075
Mgt R T
= 1 69, 470, 378
HERXTESZRET
= 1 69, 470, 378
TE%E W} O+ B EHIS N 100kg/
3 LAV NREEM (—R%ERES )
m3 24, 000 2, 885 69, 240, 000
B AR E S B E - s
= 1 230, 378
Pk A iE ) T
= 1 10, 992, 022
LI
= 1 5,379, 412
7" VA NURLRI T PUT-B300-L2000
m 340 9,370 3, 185, 800
5 CT-B300-L500
bie 612 2, 629 1, 608, 948
5 SG2T-300-1995
bie 34 17, 196 584, 664
BIRT
= 1 504, 360
ta-0& (BIEE) HP1-R1-D800
m 10 50, 436 504, 360
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HEAKT
= 1 5, 108, 250
UNEEE FiR BF- 1 -B300-L2000
m 750 6,811 5, 108, 250
WEmRE T
= 1 391, 320
M EUE L 1T
= 1 182, 410
av)) - M IS B L AT HEEY)
m3 20 8,126 162, 520
A AR A TAT7VIMEHEERR EHZERRIE 15em
m2 100 198.9 19, 890
TEHRALER T
= 1 208, 910
Prau kil 2y -k (SR
m3 20 3,267 65, 340
Prau kil TAT 7V bk
m3 10 4, 691 46,910
ALy vy -k (SR
m3 20 3,222 64, 440
ALy TAT 7V bk
m3 10 3,222 32, 220
e
= 1 1, 635, 450
RImE T
= 1 1, 635, 450
AR B
= 1 865, 250
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ZRFHE AR B
= 1 770, 200
B T HE
= 1 214, 809, 185
B ST ¢
= 1 25, 032, 314
BTl E:
= 1 1, 850, 891
Htre m
= 1 69, 112
B i % FEARTT ARG
= 1 53, 755
A7 b R BR
= 1 6,673
VAR AN Y g
= 1 8, 684
BUGERRYGEE (5 1)
= 1 1,781,779
HimE R (FE L)
= 1 23, 181, 423
Wi
= 1 239, 841, 499
BTk X=giiv oy
= 1 76, 947, 481
R 5]
= 1 316, 788, 980
— e
= 1 45, 811, 020
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Tk
= 1 362, 600, 000
THE B 2 %8
= 1 36, 260, 000
TG
= 1 398, 860, 000
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